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<div>
<div>
<code>Enumeration&nbsp;allNetInterfaces&nbsp;=8nbsp;Networkinterface.getNetwork
nterfaces();</code>
</div>
<div>
<code>InetAddress&nbsp;ip&nbsp;=&nbsp;</code>
<code>null</code>
<code>;</code>
</div>
<div>
<code>while</code>&nbsp;
<code>(alINetInterfaces.hasMoreElements()){</code>
</div>
<div>
<code>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp; </code>
<code>NetworklInterface&nbsp;netinterface&nbsp;=8&nbsp;(NetworkInterface)&nbsp;al
NetInterfaces.nextElement();</code>
</div>
<div>
<code>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp; </code>
<code>System.out.printin(netinterface.getName()); </code>
</div>
<div>
<code>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp; </code>
<code>Enumeration&nbsp;addresses&nbsp;=8nbsp;netinterface.getinetAddresses(); </
ode>
</div>
<div>
<code>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp; </code>
<code>while</code>&nbsp;
<code>(addresses.hasMoreElements()){</code>
</div>
<div>
<code>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;8nbsp;&nbsp;&nbsp;&nbsp; </code>
<code>ip&nbsp;=8&nbsp;(InetAddress)&nbsp;addresses.nextElement(); </code>
</div>
<div>
<code>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp; </code >
<code>if</code>8&nbsp;
<code>(ip&nbsp;!=8&nbsp;</code>
<code>null</code>&nbsp;
<code>&amp;&amp;&nbsp;ip&nbsp; </code >
<code>instanceof</code>&nbsp;
<code>Inet4Address){</code>
</div>
<div>
<code>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;
nbsp;&nbsp;&nbsp;&nbsp;</code>
<code>System.out.println(</code>
<code>&quot; AHAYIP&nbsp;=&nbsp;&quot; </code>&nbsp;
<code>+&nbsp;ip.getHostAddress()); </code>
</div>
<div>
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<code>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp; </code >
<code>}</code>
</div>
<div>
<code>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp; </code>
<code>}</code>
</div>
<div>
<code>}</code>
</div>
</div> </td>
</tr>
</tbody>
</table>
</div>
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